MISCELLANEOUS QUESTIONS

[SET - 3]

1.If in a certain code MANGO is written as LBLIL then in
the same code how MONKS is written?

A LPLMP B.PLIMP C.LPMPL D. MLPAL

2.If in a certain language, MADRAS is coded as NBESBT,
how is BOMBAY coded in that code?

A.CPNCBX B.CPNCBZ C.CPOCBZ D.CQOCBZ

3. If ROSE is coded as 6821, CHAIR is coded as 73456 and
PREACH is coded as 961473, what will be the code for
SEARCH?

A. 246173 B. 214673 C.214763 D. 216473
4.If Z =52 and ACT = 48, then BAT will be equal to

A.39 B 41 C. 44 D.46

5. If a train is called the bus, a bus is called tractor, the
tractor is called car, the car is called scooter, a scooter is
called bicycle, a bicycle is called moped, which is used to
plow a field?

A. Train B.Bus C. Car D. Tractor

6. If E = 5 and READ is coded as 7, then what is the code of

‘DEAR’?
A 6 B 7 C.8 D.9

7. 1f wall is called window, window is called door, door is
called floor, floor is callled roof and roof is callled
ventilator, what will a person stand on ?

A. Roof B. Window  C. Wall  D. Floor

8. If Monday falls on 5th of a month, then which day will

fall three days after the 26th?

A. Monday B. Tuesday C. Wednesday D. Thursday
9. If 1st October is Sunday, then 1st November will be
A. Monday B. Wednesday C. Thursday D. Tuesday

10. If every second Saturday and all Sundays are holidays
in a 30 days month beginning on Saturday, then how many
working days are there in that month? (Month starts from
Saturday)

A. 20 D. 23

B. 21 C.22

11. In a row of students, Puja is 9th from the left and Riya
is 6th from the right. When they both interchange their
positions then Puja will be 15th from the left. What will be
the position of Riya from the right?

A6  B12" €13 D15

12.In a line of students, Kollol is on 15th position from
right and Soham is on 18th position from left. When they
both interchange their positions then Kollol is on 20th
position from the right. What will be the position of Soham
from left?
A 18" B24" ¢ 23 D 20"

13. If 9th of the month falls on the day preceding Sunday,
on what day will 1st of the month fall?

A. Friday  B. Saturday  C. Sunday D. Monday

14. If three days before yesterday was Friday, what day will
be a day after tomorrow?

A. Monday  B. Sunday C. Saturday D. Wednesday

15. If day after tomorrow is Saturday what day was 3 days
before yesterday?

A.Sunday B.Monday C. Tuesday D.Wednesday

16. Choose the word which is least like the other word in a
group?
A. Parrot B. Vulture C. Swan D. Sparrow

17. Choose the pair in which the words are differently

related?

A. Joule: Energy B. Ampere: Current
C. Pascal: Pressure D. Radian: Degree

18. Choose the pair in which the words are differently
related?

A. Man : Mob B. Cow : Herd
C. Sheep : Flock D. Fish : Shoal

19. Choose the number which is different from others in
the group?
A. 137 B. 177 C 121 D. 183

20. Choose the number which is different from others in

the group?

A 17 B. 27 C. 29 D. 37
21. Choose the number pair which is different from others?



A. 4527 B.30,18 C.20 10 D. 1512

22. Choose the number pair/group which is different from
others?
A. 12: 96 B. 13:117 C.15:7120 D.16:128

23. Statement: Should all the unauthorized structures in
the city be demolished?

Arguments:

I. No, Where will the people residing in such houses live?

IIl. Yes, This will give a clear message to the general public
and they will refrain from constructing unauthorized
buildings.

A. The only argument | is strong
B. Only argument Il is strong

C. Either I or Il is strong

D. Neither I nor Il is strong

24. Statement: Should Indian scientists working abroad be
called back to India?

Arguments:

I. Yes, They must serve the motherland first and forget
about discoveries, honors, facilities and all.

Il. No, We have enough talent; let them stay where they
want.

A. The only argument | is strong
B. Only argument Il is strong

C. Either I or Il is strong

D. Neither I nor Il is strong

25. Statement: Should colleges be given the status of a
university in India?

Arguments:

l. Yes, Colleges are in a better position to assess the
student’s performance and therefore the degrees will be
more valid.

Il. No, It is Utopian to think that there will not be nepotism
and corruption in awarding degrees by colleges.

A. The only argument | is strong
B. Only argument Il is strong

C. Either | or Il is strong

D. Neither I nor Il is strong

26. Statement: Should internal assessment in colleges be
abolished?

Arguments:

l. Yes, This will help in reducing the possibility of favoritism.

Il. No, teaching faculty will lose control over students.
A. The only argument | is strong

B. Only argument Il is strong

C. Either | or Il is strong

D. Neither I nor Il is strong

27. Match: Victory:: Examination:?

A. Write B. Appear  C. Success D. Attempt

28. Error : Mistake:: Doubt:?
A. Retaliation  B. Poetry C. Art  D. Suspicion

29. Hour: Second:: Tertiary:?

A. Ordinary B. Secondary C. Primary D. Intermediary
30. Bank: Money:: Transport:?

D. Traffic

A. Goods B. Road  C. Movement

31. Pointing to a photograph, a man said, "l have no
brother or sister but that man's father is my father's son."
Whose photograph was it?

B. His son
D. His grandfather

A. His own
C. His father

32. If Ais the brother of B; B is the sister of C; and C is the
father of D, how D is related to A?

A. Brother B. Aunt
D. Can’t be determined

C. Cousin

33. Pointing to a gentleman, Mitu said, "His only brother is
the father of my son’s father." How is the gentleman
related to Mitu ?

A. Husband B. Uncle C. Father D. Cousin

34. A man walked 9 km towards East and then 12 km
towards South. How far is he from the starting point?
A.8km B.6km C.15km D.7.5km

35.Which of the answer figure is exactly the water image
of the given figure?
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36. In the question, a word is represented by only one set
of numbers as given in any one of the alternatives. The
sets of numbers given in the alternatives are represented
by two classes of alphabets as in two matrices given
below. The columns and rows of Matrix | are numbered
from 0 to 4 and that of Matrix Il are numbered from 5 to 9.
A letter from these matrices can be represented first by its
row and next by its column, e.g., G can be represented by

04, 40, etc., and 'K' can be represented by 56, 75, etc.
Similarly you have to identify the set for the word 'NILE'

Matrix-| Matrix-Il
0|12 (|3 |4
O|C|D|E|F |G
1/F|G|C|D|E 516|789
2|D|E|F|G|C 5/H|{K]|L{I |N
3|E|F|G|C|D 6|1 [N|H|K]|L
4| G|[C|D|E|F 7|/K|L|I [N|H
8|L |l IN|H]|K
9IN|H|K{|L|I
A. 56, 58, 03, 02 B. 59, 77, 85,43
C. 56,62 03 02 D. 57,60, 10, 02

37.Select the missing number from the given responses.

27 216 729

g

1 8 64 125 343 ?

A. 432 B.334 C. 512 D. 501

38. Consider the given statement/s to be true and decide
which of the given conclusions/assumptions can definitely

be drawn from the given statement.

Statement: Poverty is a symptom as well as
consequence of social disorder.

Assumptions:

I. Poverty is a type of social order

IIl. Poverty is related to social order

A. only | assumption is correct
B. only assumption Il is correct
C. Both assumptions | and Il are correct
D. Neither assumption | nor Il is correct

39.How many squares are there in the square figure

A.16 B.17 C. 26 D. 30

40. Question 20.Find the part which represents those
actors who are also singers

% a
College Ack
Students b é xS
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g {— singers

A a B. b Cc D.f

41.Which answer figure will complete the pattern in the
question figure?
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42.From the given answer figures, select the one in which
the question figure is hidden/embedded.

C. D.
43.A piece of paper is folded and cut as shown below in

the question figures. From the given answer figures,
indicate how it will appear when opened.

Folding Cut Open
TTTARTTY
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A. B.
C. D.

44. Find the odd word/letters/number pair from the given
alternatives.

A. 443 B.633 C. 821 D.245

45.Arrange the following words as per order in the
dictionary
A.Dyke  B.Dwindle

C. Dwell D. Dye

A. 3241 B. 1342 C. 2134 D.3421

46.Choose the correct alternative that will replace the
question mark in the given series:

DHL, PTX, BFJ, ?
A.KOS B.NRV

C.NPS  D.NRU

47. Find the wrong number in the series:
28, 33,31, 36,34,29

A 33 B3 (€34 D 29
48.The age of Rakhi is twelve times that of her daughter
Anubha. If age of Anubha is 3 years now, then what was

the age of Rakhi, 2 years earlier?

A. 20 years B. 34 years C. 30years D. 36 years
49.Satya's birthday falls on 15th August and Meena's
birthday falls on 25th June. If Meena's birthday was on
Wednesday, what was the day on Sathya's birthday in the
same year?

A. Friday B. Monday C. Tuesday D. Saturday
50.From the given words, select the word which can be
formed using the letters of the given word.
“AMPLIFICATION"

A. ACTOR B.MANOR C.CHAMP D. MANIA



